o(d dxy) (cm)

=
<

O—l

o(d @) (rad)

.......................

................................................

-2 -1 0 1 2 3
—=— DQM_CKF_SoftQCD

—e— DQM_mkFit_SoftQCD-noDNN-baseline
—+— DQM_mkFit_SoftQCD-noDNN-fix

o(d dz) (cm)

107'E

Ratio

.
1 A S
: o+ : :
1 1 a S
: * :
0 I R 3 T . :
N |4 :
N - N
. -+ .
L 28 -+ .
M- [ I- -
. 4
4 -+ .
i -+ | | ¥
14| |,
I
. : 4T [+% ]
N ) . d i <4
10_2-.------- o errrrrrrreerrrrrErrer e
H: J .
L1l 1
£ S
-+ :
""" 11 %
A4 5
2% 2
=1 .
PR S S o o 3 T
H L

o 1 2 3
TP ® (PCA to beamline)

,-\;]_0‘1 :
Q. :

-

oG p./

30721 ;
R RERE TS

1.2

TP ® (PCA to beamline)



	Contents
	Page 1


